Algebra II Unit 6B Test Review - Quadratics

1. FOR: y=—(x—4)

Axis of symmetry is __X = 9

The vertex is ("’", 0) .

The roots are; __X = 1

Domain:(— %, ®)Range: (— 00, ° J

Increase: M Decrease: M_

{e+ x= 0 _when
S P&

y-intercept: (o, - ie)

Nature of roots: | Kesd Ratil Dewble Ruct

1

2.FOR: y=—x"+1
4 X = { y -axis)
Axis of symmetry is ___ X~ o o
s (0, 1) 2

The vertex is 0; : t2i e

5 = L Lo .
The roots are: {Maqg Moy X N
Domain; (= %2, ©0) Range: L—’r oc) —4 : “
Increase: (0, 00) Decrease:("cf’, o) X*< )

X= x 2v

y-intercept: _(QLLQ.—
Nature of roots; _Z "mﬂﬁ_ inary roots ( Coay'wim’t-;)

3.FOR: y=-2(x-1)*+2

Axis of symmetry is __X = !
The vertex is “, ‘7—) .
X=0 X =2

The roots are;

Domain:{= 2%, %) Range: (= o, 2]
oa)

Decrease: ( 'g

Increase: G &, 1)
y-intercept: (0,9)

Nature of roots: _2 <zt Ra+'e Rects

4.FOR: y=2x"-1
Axis of symmetry is

X=0 (g - QxS )

The vertex is (01 — ’)
-+ f%.
The roots are: __ X~ — “=

Domain: & 09, 92)  Range: ["i, 00 )
Increase: (9, )  Decrease: © 2, o)

O y-intercept: _(0, — | )
2 Pead Trmahomad

Roets

Nature of roots:

Nane

Date

o cant
ot e Ha c/v’ﬂf‘ﬂ\. e 1




Algebra II Unit 6B Test Review - Quadratics Name Date
Fill in all the following boxes below with the appropriate information.
Quadratic Function Size Horizontal Vertical Orientation Vertex Axis @
{normal, narrow, (Right or Left. how (Up or Down, (Opens up or down?) {Giveasa Of
wide) many?) how many?) Point) Symme try
5) y=x° noermed 0 ( nene) nonze wp (0) o) A=0
3 2 2
6) }’=§(I—6) -1 LUJCIG (5) n’qh + 6 dh‘)n I LLP (é;_‘) Xz A
7 y=4(x+2)"+8 HW{Q) '8{1%2 af, g u_,g (—-2/ ‘8) X="—2
3) y=,x2+7 rwrﬂu'\f o (’l"lt) (L 1 L2 (0/ '7) =0
1 , namvw ' ,
9)y=?(x—7) +3 Eﬁ_ ”/57| th-)- 7 up 3 wp (7) 3)

Graph and identify the vertex of the following parabolas.
Vertex: (0; — 8)

10. y=2x’-8

el
||||||

:

il

( dawn wadd mean

Jhart's & Wajaﬁ'w& i #M)

I, y==(x+1)+2

|||||

2. Sketch the graph of a quadratic with roots at x =0 and x =-3.

oy -

13. Sketch the graph of a quadratic with “nature of roots” that are two imaginary roots.

L2

Coniy ol

Capss

14. Sketch the graph of a quadratic that has a discriminant that equals zero.

(w 7!1(,be Hat forchio

M

s x»am)

Vertex: (—1 : 2)
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..........

rrrrr

that doer wt fouh of
lhe x-axis)
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Algebra II Unit 6B Test Review - Quadratics

Name

Key

Date

Put the following quadratics into vertex form. Identify the vertex, the axis of symmetry, the roots and sketch the
graph. You will have li{one of the four methods that we have learned to find the roots. The four methods that we
YE

have learned are solving
quadratic formula.

901&" cAw L

g HUx +4 =5t4
(x+2) =4 — 4= (kt2) —1
=T 49
K42 T P
2= 13 solved b;;lﬁ Ht
(iz:2d K+2E73 o Mf ;1%
X= | = StL
Vertex: (- 2, -4q)
Axis of Symmetry: X~ 7 %
Roots: _ X=1 Xx=-5
Sketch of Graph: Identify Roots and Vertex.
1 | /
|
@ / ~
P, 5 s I
l'i i +5x+6 0 ;ﬂ"’; by CG?FuM F"m”'b“'
24 5x =’62q L X2 —5 & 25 -4(0)
Cesx v& 2 Ty ZT
(Z*f's/z) = 1{' x= <5 Zj_._'
x+& = EAM = -2 or X=73
{
g = + =
+2 = < , -
X5 | Za( =’2_‘;'"’z," 3
Y= 92 +7 .
. 5
Vertex ("‘ ) ~ 3 - (X+ /2') g
- b/
Axis of Symmeltry: X= >
Roots: A=~ % x=-3

2

Sketch of Graph: Identify Roots and Vertex.

1] ;
,_3\j; .

(’ 5/1}.-2!),

X+¥=5

raphing, solving by factoring, solving by completing the square and solving by the

LW-HLW""?
16. .:f+8x—9=0 0“"‘)“ ~1)2 ¢
L 45X =9 X% -9 xz |

xHEx 410 = G HIC
(x+ y)<= L5 — y= (Z'HJ) - 25

x+4="5

X= 1 X=="

Vertex: ( { '-‘"5)
Axis of Symmetry: __X& — 4

Roots: _X=1, X= -9
Sketch of Graph Identlfy Roots and Vertex.

p /“

18. 2x° J;\Q+3_o

(x5 +2x% 'k“'/) = -3

Slcvaxw) = T3t% o
wd PO

2x+0* =7 wive by ez 3

71, 22 b=
z 2(xn) FI vz —4 % 16 —4(2)2)
= —H 2 VT A

2(2)
-y % T -y 2!
x="942 7 °
Fi,0) : !
Vertex: o ‘- +‘j\f"2 «H,ﬁ
Axis of Symmetry ——r;_—"'"
Roots: __ LH:

Sketch of Graph: Identify Roots and Vertex.,

/F
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Algebra II Unit 6B Test Review - Quadratics Name Date

Change to quadratic form (expand ,FOIL & simplify):  y=ax’ +bx+c *Honurs Clallenge
19) y=(x=4)*+7 20) y=4(x2+l)2—6) 21%) }’=*%(4x—3)2+%
- < y(x +2x+)) — 6 9
4o D em) g e A CCE R
2 Xy Yy Hb +T = f4x +5x +4-C . P
1= %2 J ) . -4 (wx"-24x+0) +%
- X -8x+23 . Yy + §x —2 y
4= .lj = 2
. - Ex +i2x

'9—

Write an equation for a parabola that is:
22) Very narrow, left 7, up 3, opens up. Use excellent form.

Y= 5(x+1)“+3 (may change 5 fo any 5 )
23) Normal size, right 4, down 2, and upside down.
2
y= - (x-4)" - 2
24) Wider than normal, centered on the y-axis, down 5, opens up.
y- % x*-s (Yo muy b oy Frston < 1)
25) How many s?tilutions does every quadratic equation have?

26) When looking at the graph of any function, you can tell how many real solutions it has by how many

timesit _Crossts L x-axis

27) True or False: A quadratic equation could have two real solutions or two imaginary solutions, but it
( u}w.aa,r'naa- reeds Ceme iy /om
cannot have one real solution and one imaginary solution. Trie C%S o "j w]a}d)

28) If a quadratic equation has exactly one double real rational zero, the graph of the corresponding

quadratic function looks like: __4/&_/‘\ ( fruckes ¥ Brunces VH) ¥ "d’k"()

2 2
29) What is the parent function, which determines size, for y = —g(x— 57 +17 7

A F ]
y= 5 x
Identify the equations (in vertex {orm ) of the graphs below:
30) Equation: __Y{ = ~(x-2) 31) Equation:

4




